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Question Paper Code : 66421

B.E./B.Tech. DEGREE EXAMINATION, APRIL/MAY 2011.
Eighth Semester
Mechanical Engineering
MG 1452 — ENGINEERING ECONOMICS AND COST ANALYSIS

(Common to Automobile Engineering and Production Engineering)

(Regulation 2004)
(Commeon to B.E. (Part-Time) Seventh Semester, Mechanical Engineering,
(Regulation 2005}

Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. State the law of demand.

2. . What is Break-even Analysis?

3. Explain the concept of “Value Engineering”.

4. What is time value of money?

5. What is present worth method of evaluating investment proposal?
6. What is rate of return method of evaluating project profitability?
7. What is preventive maintenance?

8. Whatis t’he significance of timely maintenance?

9. What are all the causes of depreciation?

10. What is sinking fund method of depreciation?
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Discuss the flow of goods, services, resources and money payments in a
simple economy. Differentiate between law of supply and demand and
factors influencing demand and supply. B+4+4)

Or

@) . Define Break-even point. Draw a Break-even chart and explain its
components. 4 +4)

(1) Consider the following data of a economy for the year 2008.
Sales = Rs. 1,20,000
Fixed cost = Rs. 25,000
Variable cost = Rs. 40,000

Find the following :

(1)  Contribution

(2)  Profit

(3) BEP

(4) Margin of safety. 8)
Differentiate between value analysis and value Engineering. Explain
value Engineering Procedures. - 8+8)

Or

Mr. Kumar is planning for his retired life. He was 10 more years of
service. He would like to deposit Rs. 8,500 at the end of the first year and
thereafter he wishes to deposit the. amount with an annual decrease of
Rs. 500 for the next 9 years with an interest rate of 15% find the total
amount. at the end of the 10t year of the above series. (16)

A firm has identified two mutually exclusive investment proposals whose
details are given below. The life of the two alternatives is estimated to be
five years with negligible salvage value. The minimum attractive rate of
return for the firm is 12%.

Particulars Attractive
Al A2
Rs. Rs.
Investment 1,650,000 2,10,000

Annual Net Income 45,570 58,260

Find the best alternative based on the rate of return method of
comparision. : (16)

Or
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15.

(b)

(a)

(b)

(a)

A suburban taxi company is analyzing the proposal of buying cars with
diesel engines instead of petrol engines. The car runs at an average
60,000 km a year with a useful life of three years for the petrol taxi and
four years for the diesel taxi. Other comparative details are as follows :

Diesel Petrol

Rs. Rs.
Vehicle cost 3,90,000 3,60,000
Fuel cost per litre 8 20
Mileage in km / litre 30 20
Annual repairs . 9,000 6,000
Annual Insurance Premium 15,000 15,000

Resale value at the end of vehicle life 60,000 90,000

Determine the more economical choeice if interest rate is 20% compounded

annually. . (18)

Define ‘economic life’ of an equipment and list and explain the different

types of maintenance. (4+12)
Or

A couple of years ago, a machine was purchased at a cost of Rs. 2,00,000
to be useful for 8 years. Its salvage value at the end of its life is
Rs. 25,000. (The annual maintenance cost is Rs. 25,000). The market
value of the present machine is Rs. 1,20,000. Now, a new machine to
cater to the need of the present machine is available at Rs. 1,50,000 to be
useful for six years. Its annual maintenance cost is Rs. 14,000. The
salvage value of the new machine is Rs. 20,000. Using an interest rate of
12%, find whether it is worth replacing the present machine with the
new machine. (16)

(i)  State the objectives behind the provision of depreciation. 6)

(i) The Alpha Drug Company has just purchased a capsulating
machine for Rs. 20,00,000. The Plant Engineer estimates that the
machine has a useful life of five years and a salvage of Rs. 25,000 at
the end of its useful life. Compute the depreciation schedule for the
machine by each of the following depreciation methods :

(1) Straight line method of depreciation.
(2) Sum-of-the years digit method of depreciation. (5+5)

Or

3 ' 66421



[image: image4.png](b)

@)
(ii)

What is service output method of depreciation? (6)

The first coat of a road laying machine is Rs. 80,00,000. Its salvage
value after 5 years is Rs.50, 000. The length of the road that can be
laid by the machine during its life time is 75,000 km. In its third
year of operation, the length of road laid is 2,000 km. Find the
depreciation of the equipment for that year. 10)
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